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1. Hello, world!

#include <stdio. h>

int main() {
printf( “Hello, world!¥n” );

return 0;
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1 —1. Hello, world!
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mkdir CO0513
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int age;

age = 20;

printf ( “IKRIE%dHE T . ¥n" , age) .,
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int x =0; char s[256];
scanf ("%d”, &x); scanf ("%s”, &s);

printf "xIX%dTT¥n", x); printf ("sl&%sT9¥n", s);
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int a;
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printf ("a = %d¥n”,
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#include <stdio.h>

int main() {
int score = 0;

printf ("= %% A 51¥n”) ;
scanf ("%d”, &score) ;

i f (score >= 60)
printf ("EIAHEFETYEN)

else
printf "ARIT9...¥n");

return 0;
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int a;
scanf ("%d”, &a);

switch (A) {

case a:
AMvat: - - DAL
break;

case b:
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default:
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